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Of ~ 1205 | 1305 ~ 1785 | 18R ~ 2205 | OF ~ 178 | 1385 ~ 2285 | O ~220%
ABHEBI | TH 19440  29,160| 37,800 48600  66960| 86,400
] tHA-4kH| 22680 34560] 46440|  57240|  81,000| 103,680
Eﬁ%ﬁﬁ%ﬁx 0| FH 25272| 37,908  49,140| 63180 87048 112320
F2Ba 100 | +pEE-tkH| 29484| 44928 60372]  74412] 105300 134,784
k‘g’;fgﬁg’ 50 | FH 29,160  43740| 56,700  72,900( 100440| 129,600
F2Ba 100 |+pEH-tkH| 34020 51840 69660 85860 121500 155520
* i‘g’;fgﬁg’ go | °FH 34992| 52488) 68040 87,480 120528 155520
* |TFzme 100 |+pEH-tkH| 40824| 62208 83592| 103,032 145800 186,624
| i‘g’;f?ﬁ@ 10| FH 38880 58320 75600 97,200 133920 172,800
v R 900 [Tmg-
TN tHA-4kE| 45360 69,120] 92,880 114480 162,000 207,360
iog*?ﬁiﬁ? 120 °FH 42,768  64,152| 83,160 106,920| 147312 190,080
F2Ba 100 | +pEE-tkH| 49.896) 76032 102,168| 125928| 178200 228,096
i‘g’;fgﬁg’ 50| FH 48600( 72,900 94500 121,500] 167400 216,000
F2Ba 100 |+pEH-tkH| 56,700] 86,400 116,100] 143,100] 202,500| 259,200
i%?;f;fﬁ;ﬁé’ 200 FH 58320  87,480| 113400 145800| 200880 259,200
F2Ea 100 | +pEH-tkH| 68040| 103,680 139,320 171,720] 243,000 311,040
ABHEB | TH 4320  6480|  8640| 10800| 15120 19,440
L& a 1A %H8 4,970 7,780 9,940 12,750  17,720| 22,690
5}8‘%@5{2,@% 0| FH 5,616 8424|  11,232| 14040 19656 25272
1 100 | +pEQ- 1 1 16575  23036] 29,497
4+ ZEA BEER-AB 6,461 10,114 2,922 , : ,
k‘g’;fgﬁg’ 50 | FH 6480 9720 12960] 16200 22680 29,160
F2Ea 100 (+E2E-4£8 7455 11670  14910|  19,125|  26580| 34,035
I i‘g’;fgﬁg’ go | FH 7776|  11,664| 15552| 19.440] 27216] 34,992
* |FzEe 100 (+E2H 458 8946|  14004| 17892  22,950| 31,896 40,842
| i‘g’;f?ﬁg’ 10| FH 8640 12960 17,280( 21,600] 30240| 38880
v sl RT) prar=r=n
T8 1A %H 9,940|  15560|  19,880|  25500| 35440 45380
ioi‘g*ffgﬁg) 120 FH 9504| 14256 19008| 23760 33264 42768
F2Ba 100 | +pEE-tkH| 10934] 17,116| 21868] 28050| 38984 49,918
i‘g’;fgﬁg’ 50| FH 10800 16200] 21,600] 27000] 37,800| 48600
F2Ba 100 | +pEE-tkH| 12425 19450| 24850  31,875| 44300 56,725
E))Loi?;*ﬁfg;u? 200 FH 12,960  19440| 25920 32400 45360| 58320
FBIEE 100 | +pEE-tkH| 14910 23340 29820 38250| 53160 68,070
EIRRE 760 1,190 1,510 1,950 2,700 3,460
Kk—IL FARRE 430 540 760 970 1,300 1,730
o1
*; EERRE 860 1,300 1,730 2,160 3,030 3,890
= XE 650 970 1,190 1620  2160] 2810
INR—)L E1ERE 430 760 860 1,190 1620 2,050
FoERE 540 760 970 1,300 1730 2270
Hh B
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K 4 FR | F& | &A@ |FRTR|FRAER| = H
R~ 120% | 1305~ 1705 [ 1805 ~ 2205 | ORS ~178F | 1305 ~ 2205 | ofF ~ 220
FOERE 760 1,300 1,620 2,060 2,920 3,680
FIERE 860 1,400 1,730 2,260 3,130 3,990
F6-7TESE 1,620 2,700 3,350 4,320 6,050 7,670
B‘i‘ FEEE=E 1,300 1,940 2,480 3,240 4,420 5,720
EMITHEE 1,190 1,840 2,270 3,030 4,110 5,300
REEE=E 1,840 2,700 3,350 4,540 6,050 7,890
plicdioaE 430 540 760 970 1,300 1,730
E8ERE 2,700 4,000 5,180 6,700 9,180 11,880
FIRRE 1,400 2,050 2,700 3,450 4,750 6,150
F10KEE 1,730 2,480 3,130 4210 5,610 7,340
B?é‘ #£8-9-10%K4FE 5,830 8,530 11,010 14,360 19,540 25,370
F11EIE(FIE) 1,080 1,620 2,050 2,700 3,670 4,750
YRR (FN=E) 760 1,300 1,620 2,060 2,920 3,680
HE=E 970 1,400 1,840 2,370 3,240 4210




